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LEGEND FIGURE §8.2.

The L.D.F.-score is accumulated as follows:

1. Align the indicator {not shown) with the age of the patient on the
appropriate age/sex scale on the upper fixed part.

2. By adjusting the slide, align the pointer marked "No'' of the first
guestion with the current position of the indicator.

3. Answer the question by leaving the indicator in its current position

il

if the answer is '"mo'" or moving the indicator until it aligns with

il it

the pointer marked ''Yes' if the answer is ''yves

4. By adjusting the slide, align the pointer marked '"No' of the second
question with the current position of the indicator; answer the
question as described under 3.

5. Answer guestions in like manner, going from top to bottom. Heart rate
and pulse pressure, i.e. systolic minus diastolic blood pressure, ad-
justment require first alignment of the O-end of the scale with the
current position of the indicator by moving the slide and, next, ad-
justment of the indicator to the value observed for heart rate or for
pulse pressure.

After answering the last question, the conditional probability that acute

myocardial infarction is present is read off from the scale on the lower

fixed part under the current position of the indicator.
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